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sinA:%:\/?i°]E§ﬁ:ﬁxsinA:6x%§=3\/§

olet.
vjehmet s Gelo] e AC = /6% - (3V2)? = 32 oIt

3v2 V2 sinA 342
A = — = — = — = —— = o
2HA] cos A 5 5 ,tanA ol 1 o]},
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@sin 90° 4 cos 90° + tan 45° = 2
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B
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919 5 A1 Aeote] FRa =2 b=0




17. % o34 f(x) = 2° — ax + b,g(x) = x% + ax — 2b °] @57}
x= 12, f(x),g(x) o] HaB o5 FohH?

O -2+ )+ @G-+ )+ 2)
® (-DE+12(x+2) @ (= (x+4x+2)

® (x-1)(x+4)(x+2)?

~&B

Q1= ol o)

f)y=1-a+b=0
g)=14+a-2b=0
AYSIH g =3,b=2

flx) =2 —3x+2
ZHAIHE o]-85tH,




18.

o|2}gte] Al4=7F 191 F o] &F thdA o] FtFeFr7t x + 30] 4,
A2TF7E 3+ 4% + x - 6L T F o] A4S F5HHE?

|
x> +x-3 ¥ +x-6
©) )
2 4+5x+1 x4+ 4x+3
X2+x-2 x24+2x-3
® ®
x2_x_|_3 ) x2—|—5x—|—6
x24+4x+3
®
x?-x-6
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